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All India Maha Mock UPTET Paper-II (Social Studies) 15-Jan-2022

Q1.Which of the following is not a characteristic of early childhood?
(a) Imitation of social practices

(b) Logical and rational thinking

(c) Parallel play

(d) Rapid development of language

Q2. Which of the following is true about intelligence?
(a) Process of progressive behavior adaptation.

(b) Magical thought process.

(c) Original and productive thoughts.

(d) Cannot be expressed numerically.

Q3. Learning disability that affects physical coordination is:
(a) Dysgraphia

(b) Dyslexia

(c) Dysphasia

(d) Dyspraxia

Q4. Who among the following has identified the four distinct stages of children's cognitive development?
(a) Piaget

(b) Kohlberg

(c) Erikson

(d) skinner

Q5. A gifted child is one who has an IQ score of:
(a) Less than 110

(b) 70 or above

(c) 100 or above

(d) 140 or above

Q6. When a teacher sings a rhyme in a language classroom, he/she is trying to:
(a) Teach students to learn to sing

(b) Teach students to read and write

(c) Familiarize the students with the sounds

(d) Teach learners to understand the words

Q7. Which of the following statement is correct about partial reinforcement?
(a) It cannot be applied in an actual classroom

(b) It works best in training animals

(c) It is more effective than continuous reinforcement

(d) It is less effective than continuous reinforcement
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Q8. The news of a woman selling her child to obtain food may be understood best on the basis of -
(a) Psychological theory

(b) Theory of reinforced contingencies

(c) Psychoanalytical theory

(d) Theory of hierarchical needs

Q9. Heredity and environment are to each other.
A. Dependent

B. Complementary

C. Cooperative

(a) Only A

(b) Only B

(c) Only C

(d) All of these

Q10. Which one of the following gave the principle of construction and discovery?
(a) Vygotsky

(b) Jean Piaget

(c) Kohlberg

(d) Abraham Maslow

Q11. Piaget proposes that pre-operational children are unable to conserve. He attributes this inability to
which one of the following factors?

(a) Inability of hypothetical-deductive reasoning

(b) Lack of high-level abstract reasoning

(c) Personal fable

(d) Irreversibility of thought

Q12. The consists of two forms; each composed of 45 inkblots. The person is
permitted only one response and the scoring is more objective.

(a) Rorschach Testy

(b) Holtzman Inkblot Technique

(c) Guilford Test

(d) California Psychological Inventory

Q13. use a standard set of stimuli, such as incomplete sentence, pictures or inkblots which
are relatively ambiguous.

(a) Pencil and Paper tests

(b) Projective methods

(c) Personality tests

(d) None of the above

Q14. Under which section of RTE (Right to Education) free education for children of 6 to 14 years comes
up to 8th?

(a) section 5

(b) section4

(c) section 13

(d) section 3
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Q15. Which of the following is most effective mode of leaching-learning?
(a) Observation without analysis

(b) Imitation and repetition

(c) Rote memorization of content

(d) Exploration of relationships between concepts

Q16. A teacher should analyses the various errors made by students on a given task because
(a) she can segregate those who made more errors in comparison to others.

(b) learning is solely based on correction of errors.

(c) she can decide degree of punishment accordingly.

(d) understanding of errors are meaningful in the teaching-learning process

Q17. Conceptual understanding among students is likely to improve in the setting which emphasise on
(a) frequent examinations.

(b) inquiry and dialogue.

(c) competitions.

(d) textbook-centric pedagogy.

Q18. It is difficult for children to learn when

(a) learning is socially contextualized.

(b) content is represented through multiple ways.
(c) information is presented in disconnected chunks.
(d) they are intrinsically motivated.

Q19. After observing that students are struggling to proceed further on an ongoing activity, a teacher
decides to provide cues and hints in form of what, why, how. According to Lev Vygotsky’s theory, this
strategy of teacher will

(a) cause withdrawal tendency among students.

(b) be meaningless in process of learning.

(c) demotivate the children to learn.

(d) act as a scaffold for learning:

Q20. Children with dyslexia' can be identified by

(a) analyzing their reading and writing skills.

(b) assessing their ability to solve complex higher-order problems.
(c) finding out their social and cultural context.

(d) a through physical health check-up.

Q21. A child-centered classroom is one in which

(a) the teacher uses rewards and punishments to direct children's behavior.
(b) the teacher is flexible and caters to needs of individual children.

(c) the teacher uses the textbook as the only source of knowledge.

(d) the teacher segregates the children based on their abilities.

Q22. Which of the following is a correctly matched pair of type of intelligence and end-state performance
possibilities as per Howard Gardner's theory of multiple intelligences?

Types of Intelligence End-state performance Possibility

(a) Linguistic - Sculptor

(b) Bodly-kinesthetic - Athlete

(c) Spatial - Therapist

(d) Intra-personal Salesperson
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Q23. According to Right of Persons with Disabilities Act (2016), which of the following term is
appropriate to use?

(a) Student with physical disability

(b) Student with crippled body

(c) Retarded student

(d) Handicapped student

Q24. According to Jean Piaget, children in formal operational stage

(a) cannot conserve, classify and segregate

(b) begin to engage in make-believe and symbolic play.

(c) are capable of hypothetical-deductive reasoning and propositional thought.
(d) are bound by centration and irreversible of thought.

Q25. Personality is the dynamic organization of those psycho-physical qualities within the individual
which determine his unique adjustment in the environment.” The definitions given

(a) Skinner

(b) S. Freud

(c) G. W. Allport

(d) J. E. Decile

Q26. When a person’s learning of one situation affects his learning and performance in another, it is
called

(a) Contemplation

(b) Memory

(c) Learning transfer

(d) Intellectual Development

Q27. The exponent of the three-dimensional theory of intelligence is
(a) kettle

(b) Kurt Levin

(c) Guilford

(d) Bine

Q28. Mental stimulation model is used for teaching to improve which of the following?
(a)Knowledge

(b) Application

(c) Creativity

(d) Motivation

Q29. A boy in your class always scores good marks also he is physically very fit but he often got get
punishment for fighting in class according to you

(a) The boy needs to work more in Cognitive development.

(b) The boy needs to work in Affective development.

(c) The needs to work in his social development.

(d) The boy needs to work in Language development.

Q30. Who among the following laid great emphasis on social constructivism philosophy?
(a) Vygotsky

(b) Skinner

(c) Davy

(d) Piaget
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Directions (31-50): FRHferiad w=If &1 eq=q@® 920 3T T & I0< a4 & o 3H=a Fwed &1 =799
Frform

Q31. H forar & forw =1 a=T W@ §’ 39 197 | &l a7 FH1Lh 872
BOEIEEaUEET

(b) TSI FTCH

OKEEEIRED

(d) HI=STH FTTHh

Q32. ‘FLrer orex | &I «T wTer 872
BRUKIE]

(b) Ffa =far
(c) =T Hfer
(d) =rer =fer

Q33. HETHTA U HE| U+ gl TH AT | T T &l 97 €9 872
(a) FATHF G=AT
(b) ATAATHF GAT
CEISEIEEREL

(d) FegaT=T

Q34.FaeA orex w7 wiY fA=uw 2-
(a) @9 + r&qT

(b) TF + TOTT

(c) T + a1y

(d) =% 7 FTE 7T

Q35.3E HIF g ST I TST| 37 AT § TAATH T Rl HT 9& 572
O EIRECREIEERCRIE

OEEEEIEERERIE:

(c) Fre=TaT=e g

(d) T=TaTHE qadTH

Q36. 7 T & a5 9Tsg T =37 Hfor)
(a) ==
(b) ST

(c) g
(d) ot

Q37. ' TATATY’ H I AT THH 2
BERERIGIEE:R ]
(b) TeLET THTH

(c) o =rum
(d) g5 918
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Q38. H STAAT g ! TFEIY eI 3= Agl ad’ SHH aTFT T I d7 4 &7

(a) T AT
(b) I AT
(c) Fatera arer
(d) =¥ & F7E T

Q39. ‘Tz’ foreaT wferdre 82

(a) Fore gt 7 srerfer o fa S

(b) ST 3T+t S8 & 7 =7

(c) TrEft T =T FAF T FET-AET T FogdT
(d) &9 =T 9T F fAeg w1

Q40. =% ® & o o5 it aq+! TYF 872
BOELRIEIE

OEIBEERIR]

CERER]

(d) srETfo®

Q41.F AT & & AI[F aTFT FT FIT SIS0

(a) 3T T e B

(b) |TL I9TAT | 1A 2
(c) T T | A L5

(d) T FEAT FT FATTH T 2

Q42. ‘UHT IF ST TLILNTA B TH AT 6 {070 U 9% FT 947 i er0)

(a) ATFHAT
(b) ST
(c) s

(d) gat=<

Q43.’ g F e dHT qgra< & o2 & 719 70 [0 fGFwedi § § 7949 0|

(a) e FEAT
(b) &5 ST
(c) Z=AT AT
(d) rer g&TeT

Q44. ‘F0 e e T farafe g2
(a) Fat

(b) TITETH

CEIEEZ

(d) FaTT
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Q45. =% # & e ez # faea 7 9T gam 22
(a) HETX
(b) 7T

(c) gt

(d) e

Q46. TeI fased &1 Fase Mofefaa ar & f=w T & qia i)
HTFTASE o AT

(a) Hrar

(b) Fw=T

(c) 2=t

(d) S<er

Q47. afreHwTY 9rs3 1 "y fA=ww 87
(a) If¥ : + &
(b) T + FTT
()T : + &
(d) T + FT¥

Q48. 7% & & o 9Te3 § ‘o9’ A Al 87
EIELSIG)

(b) STTHETA

OEREEL

(d) sTTET

Q49. ¥ ® & 37¢[F AT il A4 Gl
(a) Afa=aar

(b) Fr=fater

(c) Frgervft

(d) =21

Q50. TT== o157 § HI | |Ier 872
(a) ToT =fer

(b) 3 = far

(c) sraTts &fer

(d) == =fer

Q51.3E FIF & AT & ST T H YIH 1T &, T4 Te7 | 5! -
(a) |9 aT=T

DEEIEIED]

OEREEIEE]

(d) THaT AT
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Q52.3mTaA fafer Fer & & forer foreqor o 9 srefa & -
(a) SaTEXoT 7 fF=w #iT &

(b) TSI | AT HiT AT

(c) Faw & ST T A%

(d) LT & T F¥ A

Q53.9TTHT STERTH % LT B & -
BOEILIAEEIE

(b) ATHTIT

() STTST FY9TT

(d) S |sft

Q54.T&waT 9TUT | T i HE&AT gl & -
(a) 11
(b) 12
(c)13
(d)14

Q5597 T ToFE FTITE & IAqT FdT g 1 I F4T TZAT 8-

(a) AR A=A
OEESEIER]
() J=aTaAT

(d) ISR

Q56. s A= 1 dag A A grar s -
(a) TS AT

(b) =TT T

OEELEINE

(d) SILH § | Fils Al

Q57. 9 | 1= AT T§L=AAT T €7 g -
EVEIERESE]

(b) T =7

(c) FETaT &7

(d) 7wt

Q58. ATTF TATAH FHI | hAT HEar g -
(a) 9TF J=9=

(b) TE=T

(c) FerasT

(d) =TT
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Q59. 5 AATHT TZ I § Foh 9% a7t {3 a7 1T & -
BEIEIEIRERICIEE]

(b) aT= 7

CEILIEAEEE

(d) 3T T+t

Q60. TF THTSM FeqT | T AT FHAT qTUT Feq97 % Forgidi & o g -
(a) ZATHTOT o I @ & agi FT AT &R ot g

(b) g TIRET | ITH ATHT &I TZUT Hld g0 ATHT TANT & [HIH a7 T &
(c) ATHT Tfeaer ¥ TEh< Tford i ATt 8

(d) ToI=e 93 AT ATYT Hi@d ¥ 9g19% gial o

Directions (61-63): The questions below consist of a set of labelled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.

Q61. P- And slowly, you reach the pinnacle of self-awareness, experiencing a unity with all life.
Q- If you transform your energy positively, it naturally becomes compassion and love.

R- Once you experientially are a part of everything then nobody needs to teach you morality.
S- Then you can do something to improve the situation, but without anger.

(a) PQRS

(b) QPRS

(c) RQPS

(d) RSPQ

Q62. P-The Economic Survey highlighted the effect of labor reforms in Rajasthan, suggesting that.

Q- At a higher rate than the rest of the country after labor reforms.

R- The growth rates of firms employing more than 100 workers increased.

S-But worker organizations claim that the implementation of such stringent labor laws in most States is
generally lax.

(a) PRSQ

(b) PRQS

(c) RQPS

(d) RSPQ

Q63. P- Rights rather than rushing through them.

Q-A broader consensus on any major rule changes to existing worker.
R-In such a situation, the government should be better off building.

S- For the sake of simplification.

(a) RPSQ

(b) QPRS

(c) RQPS

(d) SRQP
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Directions (64-68): In the following passage, some of the words have been left out. Read the passage
carefully and select the correct answer for the given blank out of the four alternatives.

India’s second moon mission, Chandrayaan-2, was from launch just 56 minutes before its
scheduled liftoff on July 15. This was owing to a technical glitch in the GSLV Mark-III rocket launcher. No

date has been announced for launch. This has no doubt served as a on those who
eagerly looked forward to India being only the fourth country to launch a mission that would land on the
moon, and the very first to land and explore its south pole region. Yet, it was best that the glitch was
discovered before the launch. Rocket launches always have a finish. Even the GSLV-D1, the
slighter predecessor to the GSLV Mark-III, suffered such a when it was about to be launched
for its first developmental test flight in 2001.

Q64. India’s second moon mission, Chandrayaan-2, was from launch just 56 minutes before
(a) pushed back

(b) hold back

(c) pulled back

(d) called back

Q65. No date has been announced for launch.
(a) expiry

(b) rescheduled

(c) confirming

(d) auspicious

Q66. This has no doubt served as a on those who eagerly looked forward to India being only
the fourth country to launch-a mission:

(a) pioneer

(b) crusader

(c) proponent

(d) damper

Q67. Rocket launches always have a finish.
(a) dud

(b) nail-biting

(c) hideous

(d) head-scratching

Q68. Even the GSLV-D1, the slighter predecessor to the GSLV Mark-III, suffered such a when it
was about to be launched

(a) setback

(b) feedback

(c) lowbrow

(d) backlash
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Directions (69-73): In the following questions, a sentence / a part of the sentence is in bracket. Below
are given alternatives to the bracketed part which may improve the sentence. Choose the correct
alternative. In case no improvement is required, choose "No Improvement" option.

Q69. I intend (to make) hefty returns from stock market.
(a) to making

(b) make

(c) to made

(d) No improvement

Q70. Hardly (did Kishan reached his house when) his son wished him.
(a) Kishan reached his house when

(b) did Kishan reach his house when

(c) did kishan reach his house as

(d) No improvement

Q71. What (you have been doing) in the academy since last month?
(a) have you done

(b) you have done

(c) have you been doing

(d) No improvement

Q72.If I (would have known) the truth [ would have admitted it.
(a) had known

(b) have known

(c) know

(d) No improvement

Q73. Members usually meet in (one another’s) homes.
(a) anothers’s

(b) each another’s

(c) every other’s

(d) No improvement

Directions (74-76): In the following question, a sentence has been given in Direct/Indirect speech. Out
of the four alternatives suggested, select the one which best expresses the same sentence in
Indirect/Direct speech

Q74. Kiran asked me, “Did you see the cricket match on television last night.

(a) Kiran asked me whether I saw the cricket match on television the earlier night.

(b) Kiran asked me whether I had seen the cricket match on television the earlier night.
(c) Kiran asked me did I see the cricket match on television last night.

(d) Kiran asked me whether I had seen the cricket match on television last night.

Q75. Rajesh requested me to bring him some oranges.
(a) He said, “Rajesh, please bring me some oranges.”
(b) Rajesh said, “Will you bring me some oranges.”

(c) Rajesh said to me, “Please bring me some oranges”.
(d) “Please bring my friend some oranges”, said he
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Q76. He said, “I am building a robot.”
(a) He said that [ am building a robot.
(b) He said that he is building a robot.
(c) He said that the robot is being built.
(d) He said that he was building a robot.

Directions (77-80): In the following questions, a sentence has been given in Active/Passive Voice. Out of
the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active
Voice.

Q77. Go away now.

(a) You are requested to go away now.
(b) You are suggested to go away now.
(c) You are ordered to go away now.
(d) You are allowed to go away now.

Q78.The guidelines provide instructions on procuring AGMARK quality items for preparation of midday
meals.

(a) Instructions have been provided by the guidelines on procuring AGMARK quality for preparation of
midday meals.

(b) Instructions on procuring AGMARK quality items are provided by the guidelines for preparation of
midday meals.

(c) Instructions on procuring AGMARK quality items are being provided by the guidelines for preparation
of midday meals.

(d) Instructions are being provided by the guidelines to procure AGMARK quality items for preparation of
midday meals.

Q79. Let me sit.

(a) Itis suggested that I sit:
(b) I'should be sitting.

(c) I may be allowed to sit.
(d) I'will be sitting.

Q80. The lion was running after the deer.
(a) The deer was being run after by the lion.
(b) The deer is being run after by the lion.
(c) The deer was been run after by the lion.
(d) The lion was being run after by the deer.

Directions (81-85): Read the following passage carefully and choose the most appropriate answer to the
question out of the four alternatives.

The Union Environment Ministry has selected 12 beaches in India to vie for a ‘Blue Flag’ certification, an
international recognition conferred on beaches that meet certain criteria of cleanliness and
environmental propriety.

These beaches are at Shivrajpur (Gujarat), Bhogave (Maharashtra), Ghoghla (Diu), Miramar (Goa),
Kasarkod and Padubidri (Karnataka), Kappad (Kerala), Eden (Puducherry), Mamallapuram (Tamil Nadu),
Rushikonda (Andhra Pradesh), Golden (Odisha), and Radhanagar (Andaman & Nicobar Islands).
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“To achieve the internationally recognised highest standard for the purpose of beach management,
planning and execution of projects for infrastructure development, cleanliness, safety and security
services, these beaches have been identified for Blue Flag certification in different States and Union
Territories,” reads a notification by the Ministry. The Blue Flag programme for beaches and marinas is
run by the international, non-governmental, non-profit organisation FEE (the Foundation for
Environmental Education). It started in France in 1985 and has been implemented in Europe since 1987,
and in areas outside Europe since 2001, when South Africa joined. Japan and South Korea are the only
countries in South and southeastern Asia to have Blue Flag beaches. Spain tops the list with 566 such
beaches; Greece and France follow with 515 and 395, respectively.

There are nearly 33 criteria that must be met to qualify for a Blue Flag certification, such as the water
meeting certain standards such as waste disposal facilities, disabled-friendly facilities, first aid equipment
and no access to pets in the main areas of the beach. Some criteria are voluntary and some compulsory.
India is set to apply for certification for two beaches, at Shivrajpur and Ghoghla, by July-end. About 320
crore have been spent on each and the FEE jury will decide by October if these beaches meet the mark, an
official in the Ministry told The Hindu.

Q81. Which organisation runs the ‘Blue Flag’ programme?
(a) United Nations Environment Programme

(b) United Nations Development Programme

(c) Foundation for Environmental Education

(d) World Health Organisation

Q82. Which Ministry has selected 12 beaches in India to vie for a ‘Blue Flag’ certification?
(a) Union Environment Ministry

(b) Union Ministry of Home Affairs

(c) Union Defense Ministry

(d) Union Finance Ministry

Q83. Which two beaches are set to apply for ‘Blue Flag’ certification by July-end?
(a) Shivrajpur and Bhogave

(b) Bhogave and ghoghla

(c) Shivrajpur and Ghoghla

(d) Bhogave and Miramar

Q84. How many beaches of Spain has been given the ‘Blue Flag’ certification?
(a) 566
(b) 576
(c) 515
(d) 395

Q85. Which among the following statements is not correct?

(a) There are nearly 33 criteria that must be met to qualify for a Blue Flag certification.

(b) Spain tops the list with 566 such beaches; Greece and France follow with 505 and 385, respectively.
(c) It started in France in 1985 and has been implemented in Europe since 1987, and in areas outside
Europe since 2001, when South Africa joined.

(d) The Blue Flag programme for beaches and marinas is run by the international, non-governmental,
non-profit organisation FEE.
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Directions (86-90): In the following questions, some part of the sentence may have errors. Find out
which part of the sentence has an error and select the appropriate option. If a sentence is free from error,
select 'No Error'.

Q86. People express their expectations (A)/ that their leaders should not (B)/ resorting to corrupt
practices and nepotism, (C)/ No Error (D)

(a)A

(b) B

(c)C

(d)D

Q87. Asian culture will, sooner or later (A)/ become international norm (B)/ for entertainment industry.
(C)/ No Error (D)

(a)A

(b) B

(c)C

(d)D

Q88. Hectic schedules can (A)/ take a toll on anybody and the solutions to this is (B)/ a quick holiday to
any exotic location. (C)/ No error (D)

(a)A

(b) B

(c)C

(d)D

Q89. The number of marks (A) / carried by each question (B) / are indicated at the end of the question.
(C) / No error (D)

(a)A

(b) B

(c)C

(d)D

Q90. Inspite that organisations are aware (A)/ of the importance of IT they often do not know (B)/ how
to deploy it effectively. (C)/ No error (D).

(a) A

(b)B

(9 C

(d)D

Q91. 44t Amendment to the Constitution of India was made during the period of which one of the
following Prime Ministers ?

(a) Indira Gandhi

(b) Chandra Shekhar

(c) Choudhary Charan Singh

(d) Morarji Desai

Q92. The percentage of total land area of the earth is -
(a) 32.0
(b) 30.3
(c) 29.0
(d) 28.4
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Q93. The lowest layer of atmosphere is -
(a) Stratosphere

(b) Troposphere

(c) Ionosphere

(d) Ozonosphere

Q94. The central place of Aryan Culture during Later Vedic Age was -
(a) Sapt - Saindhav Pradesh

(b) Doab of Ganga - Yamuna

(c) Magadh

(d) Deccan

Q95. Which period in Indian History has been attributed as 'Classic Age' ?
(a) The age of Guptas

(b) The age of Kushans

(c) The age of Maurayans

(d) The age of Mughals

Q96. In which major Rock Edict of the emperor Ashoka, we find the description of neighbour countries ?
(a) First

(b) Fifth

(c) Eighth

(d) Thirteenth

Q97. Hindustan Ghadar Party was founded in the year -
(a) 1916
(b) 1925
(c) 1913
(d) 1922

Q98. The last expedition of Shershah Suri was against the ruler of -
(a) Kalinjar

(b) Marwar

(c) Ranthambore

(d) Malwa

Q99. In which year the Amendment in Indian Constitution regarding Preamble was made ?
(a) 1975
(b) 1976
(c) 1978
(d) 1992

Q100. On the basis of which Committee's recommendations the fundamental duties have been
incorporated in Indian Constitution ?

(a) Sardar Sawaran Singh Committee

(b) Ashok Mehta Committee

(c) Sadiq Ali Committee

(d) Hegde Committee
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Q101.The earliest reference to sati custom is made in which of the following inscriptions?
(a) Allahabad Pillar inscription

(b) Eran inscription of Bhanugupta

(c) Aihole inscription of Pulkesin II

(d) Bhitan inscription of Skandgupta

Q102.The Bibi Ka Magbara is a tomb located in . It was built by Azam Shah, son of Aurangzeb, in
1678.

(a) Hyderabad

(b) Aurangabad

(c) Lucknow

(d) Allahabad

Q103.Who gave Gandhi the title “Mahatma”?
(a)Rabindranath Tagore

(b) B. G. Tilak

(c) Pandit Jawaharlal Nehru

(d) Sardar Vallabhbhai Patel

Q104.When the Simon Commission visited India, the Viceroy was
(a) Lloyd George

(b) Lord Irwin

(c) Lord Reading

(d) Lord Ripon

Q105.Which one of the following pairs is not correctly matched?
(a) Jahangir : William Hawkins

(b) Akbar : Sir Thomas Roe

(c) Shah Jahan : Travernier

(d) Aurangzeb : Manucci

Q106.What is the correct sequence of the following events?
1. The Lucknow Pact

2. The Introduction of Dyarchy

3. The Rowlatt Act

4. The Partition of Bengal

Choose the correct answer from the codes given below:
Codes:

Q107. Who among the following, rejected the title of ‘Knight hood’ and refused to accept a position in the
council of the Secretary of State for India?

(a) Motilal Nehru

(b) M.G. Ranade

(c) G.K. Gokhle

(d) B.G. Tilak
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Q108. Which of the following sources has the largest share in power generation in India?
(a) Atomic power

(b) Thermal power

(c) Hydro power

(d) Wind power

Q109. The highest number of tube wells is found in which one of the following countries?
(a)India

(b)Saudi Arabia

(c) America

(d) China

Q110. Which of the following state receives rainfall due to western disturbances?
(a) Punjab

(b) West Bengal

(c) Kerala

(d) Gujarat

Q111. Why does Western Ghats and Eastern Ghats both receive sufficient rainfall but Deccan Plateau
receives scanty rainfall?

(a) Itis a rain shadow area

(b) It is located parallel to wind direction

(c) Itis away from the coast

(d) Rain bearing clouds are absent

Q112. Space between Earth and Moon is known as
(a) Cislunar

(b) Fulalunar

(c) Nebula

(d) None of these

Q113. Generally, the Governor belongs to
(a) The state where he is posted

(b) Some other state

(c) The Indian Administrative Service

(d) None of the above

Q114.The union list contains:
(a) 66 items

(b) 97 items

(c) 47 items

(d) 100 items

Q115. For the Karachi session of Indian National Congress in 1931, presided over by Sardar Patel, who
drafted the Resolution on Fundamental Rights and Economic Programme?

(a) Mahatma Gandhi

(b) Pandit Jawaharlal Nehru

(c) Dr. Rajendra Prasad

(d) Dr. B. R. Ambedkar
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Q116. Which one of the following with regard to the Poona Pact, 1932 is NOT correct?

(a) Adequate representation of depressed sections in Government jobs

(b) Reservation of seats for the depressed classes in the provincial legislature

(c) Acceptance of joint electorate system
(d)Reservation of seats for the depressed classes in the central legislature

Q117. Who was the Birtish Prime Minsiter who convened the First Round Table Conference in London?

(a) Churchill

(b) Ramsay McDonald
(c) Chamberlain

(d) Disraeli

Q118. The impact of Green Revolution was felt most in the case of
(a) Wheat

(b) Rice

(c) Pulses

(d) Oil seeds

Q119. Which is largest peninsular river in India?
(a) Krishna

(b) Godavari

(c) Cauvery

(d) Mahanadi

Q120.The Great Himalayan National Park is in which state?
(a) Jammu & Kashmir

(b) Arunachal Pradesh

(c) Himachal Pradesh

(d) Sikkim

Q121. How does the Sun get its energy?
(a) From gravitational pressure

(b) From nuclear fission

(c) From nuclear fusion

(d) Due to attraction from earth

Q122.Which functionary can be invited to give his opinion in the parliament?
(a) Cabinet Secretary

(b) Chief Justice of India

(c) Chief Election commission of India

(d) Attorney General of India

Q123. "Central Bureau of Intelligence and Investigation" is listed in the
Schedule in the Constitution of India.

(a) Union

(b) State

(c) Global

(d) Concurrent

list given in the Seventh
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Q124. Who has the power to prorogue the Lok Sabha?
(a) The Speaker

(b) The Prime Minister

(c) The Minister for Parliamentary Affairs

(d) The President

Q125. A narrow strip of land joining two landmasses is known as—
(a) strait

(b) isthmus

(c) island

(d) bay

Q126. Read the given statements A and B and select the correct answer:

A. Critical thinking promotes the building of concepts, application and expansion of ideas.
B. It does not help in understanding and evaluating arguments and beliefs of others.

(a) Ais true and B is false

(b) Ais false and B is true

(c) Both A and B are false

(d) Both A and B are true

Q127. Which one of the following periods is longest in the human history?
(a) Palaeolithic

(b) Mesolithic

(c) Neolithic

(d) Megalithic

Q128. Read the given statements A and B and select the correct answer:
A. Mehrgarh is located in a fertile plain near Bolan Pass of Pakistan.

B. Evidences of farming and herding are found here.

(a) Ais true and B is false

(b) Ais false and B is true

(c) Both A and B are false

(d) Both A and B are true

Q129. The first ruler of Magadha Mahajanapadas in the sixth century BC was—
(a) Mahavira

(b) Prasenjit

(c) Bimbisara

(d) Ajatashatru

Q130. Which one of the following is not among the three jewels of Buddhism?
(a) Buddha

(b) Dhamma

(c) Ahimsa

(d) Sangha
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Q131. To familiarize students with the theme, ‘Natural Vegetation and Wildlife’, which would be the best
pedagogical method?

(a) Textbook reading and discussion.

(b) Screening a documentary on the theme.

(c) Visit to a wildlife sanctuary.

(d) Inviting an expert for a lecture.

Q132. What is the role of cartoons in a Social Science textbooks?
(a) Raises basic issues and makes it relatable to students.

(b) No role as cartoons are immature.

(c) Mainly used as fillers so that textbooks look attractive.

(d) Makes class enjoyable as the subject is boring.

Q133. Consider statements A and B on the practice of apartheid:

A. It discriminates between races but allowed all the right to vote.

B. It prevents mingling of races but gives equitable public facilities to all.
Choose the correct option:

(a) Both A and B are false.

(b) Only A is true.

(c) Only B is true.

(d) Both A and B are true.

Q134. A social Science teacher should aim towards:
(a) Passing the examinations

(b) Rote memorisation

(c) Building perspective

(d) Syllabus completion

Q135. Which of the following approaches have been considered while developing social and political life
textbooks?

A. Learning through use of concrete examples and experiences.

B. Learning through retention based on facts and data.

(a) Neither Anor B

(b) Only A

(c) Only B

(d) Both Aand B

Q136. What is the main purpose of an Open-Book Evaluation?

(a) Students can answer exactly according to the textbook.

(b) Students need not feel the burden to rote memorise all facts and details.
(c) Teachers need not undergo extra pressure to frame new questions.

(d) Students need not read extra books.
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Q137. Which of the following would be the best closure tasks after the teaching of the theme ‘“The Making
of Regional Cultures’?

A. Small group projects

B. Dance performance by an expert

C. Quiz competition

D. Collage making

(a)B,CD

(b)A B, C

(A B, D

(dACD

Q138. Imagine you have inherited a kingdom. How would you make your kingdom stable and
prosperous?

In context of the above question, as a teacher which skill would you emphasise upon while assessing the
students?

(a) Ability to reason.

(b) Comparing experiences.

(c) Ability to analyse.

(d) Infer and extrapolate from situation.

Q139. Area of curriculum includes
(a) internal activities of a school
(b) External activities of a school
(c) Both of theme

(d) None of them

Q140. social Studies text book should be according to
(a) the Author

(b) the Student

(c) the Teacher

(d) the Government

Q141. Bloom's lesson plan is based on
(a) Objectives

(b) Content

(c) Presentation

(d) All of the above

Q142. The project is that purposeful work which is done with complete devotion in the social
atmosphere. This statement is that of

(a) Bloom

(b) Crow and Crow

(c) John Dewey

(d) Kilpatrick

Q143. Social Studies is supposed to study -
(a) Economical relations of man.

(b) Political relations of man.

(c) Social relations of man.

(d) Social geographical relations of man.
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Q144. The fact which is studied under the area of Social Studies?
(a) Study of Social relations

(b) Study of Human relations

(c) Education of Citizenship

(d) All of the above

Q145. Evaluation is a process of -

(a) Determining the extent of the achievement of objectives.
(b) Ascertaining the quality, value of outcomes.

(c) Comparing the outcomes of instruction.

(d) All of the above.

Q146. The use of teaching learning material in Social Science do -
(a) Makes the lesson lengthy.

(b) Students get bored.

(c) Both the above statements are wrong.

(d) Both the above statements (a) & (b) are true.

Q147. The three stages of evaluation dimension are :
1. Determination of Educational objectives

2. Providing learning experiences

3. Evaluation of Behavioural changes

The above stages are given by -

(a) B. S. Bloom

(b) Herbert

(c) Skinner

(d) Thorndike

Q148. A teacher while explaining agriculture practice case studies on agricultural practices India and the
USA,which aspect of learning is he/she focusing-

(a) Ability to understand the concept

(b) Ability to interpret and explain

(c) Ability to make a better project

(d) Ability to learn by comparing and contrasting through concrete example

Q149. While dealing with social Equality and untouchability, what should be the most appropriate
approach for teaching-

(a) Explaining the concept as described in the textbook

(b) Giving project to students to review text relating to untouchability

(c) Citing the experience of the communities that make up the social and cultural milieu of the child

(d) Explaining in details the practice of untouchability

Q150. In teaching of social science, the emotion of children is most easily aroused not by words but by
sights and sounds, for which the most effective way of teaching is through-

(a) Lecture Method

(b) Project Method

(c) Fields trips and surveys

(d) Classroom discussions
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$1. Ans.(b)

Sol. The correct answer is option B, i.e., logical and rational thinking is not a characteristic of early
childhood stage. The developmental characteristics of early childhood includes: increase in physical
strength, use of motor skills to handle exterior environment, rapid development of language, perfection
and practicing of existing skills, use of language for communication, illogical problem solving, prevalence
of magical and fantasized thinking, parallel play (i.e., playing in presence of, rather than in interaction
with, other children), imitation and learning of social roles, relations and practices, etc.

$2. Ans.(c)

Sol. The correct answer is option (, i.e., original and productive thoughts. Only statement in option C is
correct, rest all are incorrect. Intelligence is not a process, but an ability to learn and understand the
world and its complexities using one's thoughts and experiences, to effectively deal with the challenges of
life. Its abilities include: adaptability to a new environment, ability to comprehend relationships ,capacity
for reason and abstract thoughts, capacity for original and productive thoughts and ability to judge and
evaluate. Intelligence is guided by reason and logic, thus there is no magical thought process involved in
it.

S$3. Ans.(d)

Sol. Dyspraxia affects physical coordination. It is not related to intelligence, but it can sometimes affect
cognitive skills. Sometimes it is used interchangeably with developmental coordination disorder. It
affects fine and gross motor skills, coordination, and motor planning.

$4. Ans.(a)

Sol. The correct answer is option A, i.e., Piaget. Jean Piaget has introduced the four distinct stages of a
child's cognitive development. Piaget proposed that a human goes through four distinct stages in the
procedure of development. The four developmental stages are- The Sensorimotor stage, the
Preoperational stage, the concrete operational stage, and the formal operational stage. Through these
four stages, he talks about the physical and mental development that occurs in a human body and how
children acquire knowledge and it also understands the nature of intelligence

$5. Ans.(d)

Sol. A gifted child is one who has an 1Q score of 140 or above. The gifted child has an ability that lies
within the range of the upper two or three percent of the population. The novelty in expression and
curiosity are signs of giftedness

$6. Ans.(c)

Sol. When a teacher sings a rhyme in a language classroom, he/she is trying to familiarize the students
with the sounds. The recurrence of the same sequence of sounds helps students to understand the sounds
of language.

S$7. Ans.(c)

Sol. Partial reinforcement is used at certain intervals or ratios of time, instead of reinforcing the behavior
every single time. This form of scheduling reinforcement after a certain number of correct responses is
also termed intermittent reinforcement.
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$8. Ans.(d)

Sol. Maslow's hierarchy of needs is a theory of motivation which states that five categories of human
needs dictate an individual's behavior. Those needs are physiological needs, safety needs, love and
belonging needs, esteem needs, and self-actualization needs.

S9. Ans.(d)
Sol. Heredity and environment are dependent, complementary and cooperative to each other

$10. Ans.(b)

Sol. Every child is active to make their experiences meaningful. He is trying to know whether his thoughts
are harmonious or not. Children periodically search and build those behaviors and ideas. He never
thought of ideas before.

$11. Ans.(d)
Sol. Irreversibility of thought

$12. Ans.(b)

Sol. The Holtzman inkblot technique, also known as the Holtzman inkblot test, is an ink blot test aimed at
detecting personality and was conceived by Wayne H. Holtzman and colleagues. It was first introduced in
1961 as a projective personality test similar to the Rorschach. The HIT is a standardized measurement.

$13. Ans.(b)

Sol. Projective methods use a standard set of stimuli, such as incomplete sentence, pictures or inkblots
which are relatively ambiguous. Projective techniques allow respondents to project their subjective or
true opinions and beliefs onto other people or even objects. The respondent's real feelings are then
inferred from what s/he says about others. Projective techniques are normally used during individual or
small group interviews.

$14. Ans.(d)

Sol. Main streams of RTTE

Section-3: Free education up to 8th standard for children of 6 to 14 years.
Section 4: Admission to class according to age.

$15. Ans.(d)

Sol. Exploration of relationships between concepts Is the most effective node of' leaching- learning.
Effective teaching can be defined in many ways together with teacher behavior (warmth, civility, clarity).
teacher knowledge (of subject matter of students), teacher beliefs, and so out Here we describe effective
teaching as the ability to improve student achievement as shown by research.

$16. Ans.(d)

Sol. A teacher should analyze the various errors made by students on a given task because understanding
of errors is meaningful m the teaching - learning process. In order to have mastery of their teaching
content, they should appreciate how student's best learning concepts, content and skills. Effective
teachers use their knowledge of learning processes to determine which will be most effective to help the
particular students in their classes learn productively.
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$17. Ans.(b)

Sol. Conceptual understanding among students is likely to improve in the settings which emphasis on
inquiry and dialogue. According to Conceptual understanding among students is likely to improve in the
setting which emphasize on. (1) Inquiry and dialogue. (2) Competitions.

$18. Ans.(c)
Sol. It is difficult to learn when information is presented in disconnected chunks because it becomes
difficult for a child to connect the diverse concepts. Emotions are inextricably intertwined with

motivation and learning hence presenting disconnected chunks of knowledge would deviate the attention
of the child.

$19. Ans.(d)

Sol. Scaffolding for learning implies that Instructional scaffolding is a procedure through which a teacher
adds supports for students in order to improve learning and aid in the mastery of tasks. The teacher does
this by methodically building on students experiences and knowledge as they are learning new skills.

$20. Ans.(a)

Sol. The correct answer is option A, i.e.,, Children with 'dyslexia’ can be identified by analyzing their
reading and writing skills. Dyslexia is a disability to read and write things properly. The disability due to
weakness in phonological processing with poor self-expression is called dyslexia. Learners with dyslexia
face trouble with word recognition, differentiating between left and right, remembering new vocabulary,
delayed ability to speak, poor spelling, poor in sequence and numbers, etc.

$21. Ans.(b)

Sol. The correct answer is option B, i.e., A child-centered classroom is one in which the teacher is flexible
and caters to needs of individual children. A teacher uses rewards and punishments to direct children's
behavior in Skinner's theory of behaviorism and conditioning. A teacher segregates the children based on
their abilities to help child with special needs. This is called ability-grouping.

$22. Ans.(b)

Sol. The correct answer is option B.-Bodly-kinesthetic - Athlete. The Theory of Multiple Intelligence was
given by Howard Gardner. His book, "Frames of Mind: The Theory of Multiple Intelligence" proposed
eight theories of intelligence. He believed that development of intelligence is affected by both biological
and cultural aspects

$23. Ans.(a)
Sol. Students with physical disability is one of term applicable with the Right to persons with disabilities
act 2016. In this act every person with or without any physical disability has a right to education.

S$24. Ans.(c)

Sol. The children in formal operational stage are capable of hypothetical-deductive reasoning and
propositional thought. Piaget gave four stages of cognitive development of children: Sensorimotor Stage,
Pre-Operational Stage, Concrete Operational Stage and Formal Operational Stage.

$25. Ans.(c)
Sol. G. W. Allport- This definition was given by Allport in relation to personality.
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$26. Ans.(c)
Sol. Learning from one situation to another. Influencing its learning and performance in a situation is
called learning transfer.

$27. Ans.(c)

Sol. Guilford (1959, 1961, 1967) and his colleagues presented an explanation of the structure of
intelligence on the basis of three mental abilities. This intelligence structure theory of Guilford is called
the three-pronged intellectual model.

$28. Ans.(c)
Sol. The use of brainstorming model for teaching is used to improve creativity.

$29. Ans.(c)
Sol. The needs to work in his social development as he is physically fit and scores good marks yet he gets
punishment for not well behaving in class.

$30. Ans.(a)

Sol. Vygotsky was a Russian psychologist. His research was related to the development and structure of
human consciousness. Vygotsky emphasized on the cognitive psychological approach. From the
perspective of cognitive development.

$31. Ans.(d)

Sol. ‘& foraT & forT =T FAT W § 39 a1 § HYGTH FLa gl HUGH H1h -ord T faar sirw 47 e forg
TohaIT 3T SITT, I HIETH FIH Had &S &l [9ed g &l T ‘& [o70'| ST - AHT 7 @ &7 9. 7l #
&Sl o T et 7T

$32. Ans.(d)

Sol. ‘FTer orex § &S TS gl &IH Gier -STa &I QT8 2l Her Fld THA (3T, ) FTT (31, M) BT aT ‘3 I B,
S (3, %) F AT (3, %) 2T AL Aqar e, 5 (3, %) * qE(3, F) 2L AT T AT 2

ST &I + AT : [EAHTAT AT gl gl A+3T THeehe 3 a7 &

$33. Ans.(c)

Sol. =7 ATFT § ‘WAL T TIANT UF haTd o €T | gl g THT Ig TF AT<har=ad §7 gl FAmaras® G
- ST 9757 e Uah ATch, qq AT TATH T ATe FAT & S &1 HI AhaTa® G317 Fagd gl oS- Fd, =4
(®aT), o, AT foRet (I%q), TL9T,THEHGTCAT Mieft (f<r) st

S$34. Ans.(c)
Sol. "I 9rsx T T A= Gd + Se17 Q)

$35. Ans.(b)
Sol. ag &9 § ST U TLT 39 AT § Hagaras qaqrH &7 TIRT g gl e qaqme & arg | et g
HAATH | ¥ ST gl ¢ SH A daraed a-qTH Fgd gl 99 : ST-Hl, A1-agl, STaT-a9T, -1 |

$36. Ans.(c)
Sol. g UF TEA T3 & THHT T 9153 TTEH | AT qA1 TeH T2 &
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S$37. Ans.(a)
Sol. ‘T’ FT qrATH fag ‘Fafd F AT 81 30H AATATT qHH 2| FArATa qH1H - =6 qH9

TEAT 9% (T3 TF) T 2IdT 2 31T T2 U< AT 2T 8, THH T8l T8 SUHH gldl & 9 &, 3, &, I, 8%, WY,
9, [, 79T, =TT Arfs ST 9758 T avd gar g

$38. Ans.(c)
Sol. ‘H STAAT § i TN A& =g Al and’ Ig U WA arry 21 i arrr — e arri § o e ar
TYTT AT BT AT AT ST STATHT 21, I8 T 97907 iz 2

$39. Ans.(a)
Sol. ‘sTgaTe Hferetheor g - o et & srgtiersr |1 G s

$40. Ans.(d)
Sol. 9153 #i¥ &[5 AT & — AT

S$41. Ans.(b):
Sol. TET ‘AL IAVT F THTA &’ o AT U ‘I <9 § AT ' FHT TTRT I+ 2

S42. Ans.(c):
Sol. ‘THT IF ST TLIXNIT g1’ S8 ATFATLT o o107 T 91e8 ‘ST 2l

$43. Ans.(d):
Sol. "G FT ¥ TAT qETa H7 3T Hle TTT g

S44. Ans.(d):
Sol. ‘T’ FEIETH FHTLeh il [A8f<h gl

$45. Ans.(c):

Sol. ‘ol erex | foc@ T TANT gom 8| o F7 o1 = 72 &7 qWIF S| % A1 F[5 T 21 Al qg A=
Fae T 81 9 g, oA, 7, e

$46. Ans.(c):

Sol. 7gf 2RV 957 T YANT T g1 T UF AT g, "= T AL 8T qAT " &7 qreqd g 3 qorams =xfww =
FE T BT, T A1 @7 ST, IHeT (F0ar &t [t 2 |

S$47. Ans.(a):
Sol. 'TfTTe’ 9reg 7 HfY fA=uE iy + w1 2

$48. Ans.(d):
Sol. ITHA 9158 § ‘AT ITEN Aal § THH ‘I ST gl

$49. Ans.(d):
Sol. 9153 it 9[F AAAT & — FIBT|
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$50. Ans.(c):
Sol. Tfe= 913 H ATE €Y g, T&=T = 97 + T

$51. Ans.(a)
Sol. I FTAA 9 A9 & ST T H W g1aT &, Tiq TeT § i1 T qT== § 76 HI9 T@he off 915 &l g

TqRAT &, AT T ATAT H FTAH [ HadT ITS FHLAT GIT ST HITE® FTA o A ATTIT

$52. Ans.(a)
Sol. =T fater St & Faw it &< foreror o a2 amaTia §, st fater war foreror it agayt Aty g,

= fafer & fAugesq F TeqaEer & S q99 989 IqEA0 QU ATd 8, SO+ a8 9T fHgid &

o o
ESNNIESSIRERIRGISE %l

$53. Ans.(d)
Sol. STUT STTENTH T FHILUT g- ATUT A=A, SATHTIT 3T TTUT HIAST SASISATERTH FT 37T g, T@ar U T F
qATCTE g AT HeAT, ATEH I TATIAT 1 AT 1L g-af o5, TATE, ATATALIT A THaFaT |

$54. Ans.(a)
Sol. &= AVHTAT T 3T o & (e aadl gl [Reat 7 a0l il Tf &A1 52 8, ™red 11 &7 37 41 =
2T 2| ATZ AU h AR el el THE 0 AVTHTAT el 21 07 2eaT AT 7 Ty Gidt Uhrs 2t 2

$55. Ans.(c)
Sol. STAF &l I UTS § TEITAAT & TAT AT 5 ol IH FAT TgAT gl Teq1a=T § IS | FAT FAT 984T 21T 3,
EE IR GRS AR ICAE T R I

$56. Ans.(b)
Sol. &af™ =T F7 Faer A0 AT & 5| af T 312 AT 8, AT AT AT SITAT &, AT DA % FIT |

$57. Ans.(d)
Sol. ATFT 9,9 €T AT FgIad &1 &9, A1 ol ST % &7 3|

$58. Ans.(a)
Sol. ATAF TATAH ATF TEUT H@AT &, TIH Tged g1 ST JA Agl qqT, dg AqT (ST Rl AT T2 FT &f
Sh AT §, SHh 1% gf ag AT, T&AT, o1 aife o= oo &fear g

$59. Ans.(d)
Sol. FTAATHS TZId T GIAT ahl haTefierar, e A=, I arae a7 I ATUTS (aahTe 9% 927 &7 foaT

STTAT g 1HTATaTal AL I AT ST ST THISTE, Aligcd A =qT § AT AR 63T S1ar g |

$60. Ans.(a)
Sol. T TqHTSMT FAT H UHT TELL Al ol agT 9 SATHLOT o [FAH HGIAT T 51 IHHT TUT FHT SR Toal
ST, ST HE & IHHT (AT T =R T IX T A=A qal l Steat g

S$61. Ans.(b)
Sol. The correct sequence is ‘QPRS’.
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$62. Ans.(b)
Sol. The correct sequence is ‘PRQS’.

$63. Ans.(c)
Sol. The correct sequence is ‘RQPS’.

$64. Ans.(c)
Sol. Pull back: to back away, withdraw, or retreat.

$65. Ans.(b)

$66. Ans.(d)
Sol. Damper: a person or thing that has a subduing or inhibiting effect.
Crusader: a person who campaigns vigorously for political, social, or religious change; a campaigner.

$67. Ans.(b)
Sol. Dud: not working or meeting standards; faulty.
Hideous: extremely unpleasant.

$68. Ans.(a)

Sol. Setback: a reversal or check in progress.

Lowbrow: not highly intellectual or cultured.

Backlash: a strong negative reaction by a large number of people, especially to a social or political
development.

$69. Ans.(d)

$70. Ans.(b)
Sol. “Hardly + did + subject+ V1 +........... When + ......"is the correct format of inversion case.

S$71. Ans.(c)
Sol. The structure of the sentence will be as follows: ‘Have + Subject + been + Verb + ing?’ The sentence is
in Present Perfect Continuous Tense.

$72. Ans.(a)
Sol. In ‘if’ condition ‘Had + verb’s 3rd form’ is followed by ‘would have + verb’s 3rd form’.

$73. Ans.(d)
S$74. Ans.(b)
$75. Ans.(c)
Sol. ‘Please’ is changed into request when changing into indirect form. Here indirect form has request in

it so ‘please’ has to come in direct form.

$76. Ans.(d)
Sol. Present continuous is change into past continuous in indirect form.
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$77. Ans.(c)
Sol. Since the given sentence is an ‘order’ hence only option (c) is apt.

$78. Ans.(b)

Sol. An active voice in Present Indefinite tense changes into passive voice as follows:
Verb in active voice: V1

Verb in passive voice: is/are/am + V3

$79. Ans.(c)

$80. Ans.(a)
Sol. An active voice in Past continuous tense changes into (was/were+ being + V3) while converting it
into a passive voice.

$81. Ans.(c)
Sol. Refer to “ The Blue Flag programme for beaches and marinas is run by the international, non-
governmental, non-profit organisation FEE (the Foundation for Environmental Education)”.

$82. Ans.(a)
Sol. Refer to the first line of the passage “The Union Environment Ministry has selected 12 beaches in
India to vie for a ‘Blue Flag’ certification”.

$83. Ans.(c)
Sol. Refer to the last paragraph “India is set to apply for certification for two beaches, at Shivrajpur and
Ghoghla, by July-end”.

$84. Ans.(a)
Sol. Refer to “Spain tops the list with 566 such beaches; Greece and France follow with 515 and 395,
respectively”.

$85. Ans.(b)
Sol. Greece has 515 ‘Blue Flag’ certified beaches while France has 395 such beaches.

$86. Ans.(c)
Sol. Replace 'resorting’ with 'resort' because modals (should, would, could....) take first form of verb.

$87. Ans.(c)
Sol. The word ‘the’ after ‘for’ is to be inserted. Here we are pointing towards a particular industry so it
should be made specific thus it should be “the entertainment industry”.

$88. Ans.(b)
Sol. ‘solutions’ should be replaced by ‘solution’ so that the sentence becomes correct because only one
solution has been provided in the statement.

$89. Ans.(c)
Sol. “The number” takes singular verb with it, thus, in part (c) “are” should be replaced with “is”.

$90. Ans.(a)
Sol. Here, In spite of the fact that/ Despite the fact that.... should be used.

30 | www.teachersadda.com | www.sscadda.com | www.bankersadda.com www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

S91. Ans.(d)
Sol. 44th Amendment to the Constitution of India was made during the period of Morarji Desai in 1978.

$92. Ans.(c)
Sol. total land area of the earth is 29% and the area of water is 71%.

$93. Ans.(b)

Sol. layers of atmosphere are:

e Exosphere

e Thermosphere

e Mesosphere

e Stratosphere

e Troposphere

The lowest layer of atmosphere is Troposphere.

S94. Ans.(b)
Sol. Doab of Ganga - Yamuna was the central place of Aryan Culture during Later Vedic Age.

$95. Ans.(a)

$96. Ans.(d)
Sol. We find the description of neighbor countries on the thirteenth major rock edict of the emperor
Ashoka.

$97. Ans.(c)
Sol. In 1913 Pacific Coast Hindustan association was founded by Lala Hardayal with Sohan Singh Bhakna
as its president, which was called Ghadar Party.

$98. Ans.(a)
Sol. Kalinjar fort was the last expedition of Shershah.

$99. Ans.(b)

Sol. The Preamble declares that fraternity has to assure two things: The dignity of the individual and the
unity and integrity of the nation.

The word ‘integrity’ has been added to the Preamble by the 42nd Constitutional Amendment (1976).

$100. Ans.(a)
Sol. On the basis of Sardar Sawaran singh Committee’s recommendations the fundamental duties have
been incorporated in Indian Constitution.

$101. Ans.(b)
Sol. The earliest reference to sati custom is made in Eran inscription of Bhanugupta.

$102. Ans.(b)
Sol. The Bibi Ka Magbara is a tomb located in Aurangabad, Maharashtra, India. It was commissioned by
Aurangzeb's Son Azam in the memory of his Mother Dilras Banu Begum.

$103. Ans.(a)
Sol. The title of Mahatma was bestowed on Gandhiji by Rabindranath Tagore.
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$104. Ans.(b)

Sol. On April 3, 1926 Lord Irwin was appointed 30th Viceroy and Governor-General of India. This was the
most tumultuous period for the politics of India. During this period the important events were Visit of
Simon Commission (1928), Nehru Report (1928), Jinnah’s 14 Points, Murder of Saunders in 1929 etc.

$105. Ans.(b)
Sol. In January 1615, Sir Thomas Roe presented his credentials to the emperor Jahangir as the
Ambassador of the King of England.

$106. Ans.(b)

Sol. The Partition of Bengal -1905

The Lucknow Pact-1916

The Rowlatt Act -1919 (March)

The Introduction of Dyarchy-1919 (December)

$107. Ans.(c)

Sol. Gopal Krishna Gokhale was one of the social and political leaders during the Indian Independence
Movement against the British Empire in India. Gokhale was a senior leader of the Indian National
Congress and founder of the Servants of India Society.

$108. Ans.(b)
Sol. Thermal power is the biggest contributor of electricity generation in India. India had a thermal
power generating capacity of 220570 MW at the end of Apr 2017.

$109. Ans.(a)
Sol. India has the highest number of tubewells.

$110. Ans.(a)

Sol. Western disturbance refers to a system of low pressure that moves from west to east, bringing
moisture from Eurasian water bodies, and is responsible for winter rain in northwestern India and
snowfall in the Himalayan tracts. It usually brings rain during the winters but also during the pre-
monsoon period. Punjab receives rainfall due to western disturbances.

$111. Ans.(a)
Sol. A rain shadow is a dry area on the leeward side of a mountainous area (away from the wind). Deccan
Plateau falls in a rain shadow area thus it receives scanty rainfall.

$112. Ans.(a)
Sol. Space between Earth and Moon is known as Cislunar. Pertaining to the space between the earth and
the orbit of the moon.

$113. Ans.(b)
Sol. Governor should be man outsider, that is, he should not belong to the state where he is appointed, so
that he is free from then local politics.

S$114. Ans.(d)

Sol. The Parliament has exclusive powers to make laws with respect to any of the matters in the Union
List. This list has at present 100 subjects (originally 97 subjects) like defence, banking, foreign affairs,
currency, atomic energy.
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$115. Ans.(b)

Sol. The Karachi session was presided by Sardar Patel. The congress adopted a resolution on
Fundamental Rights and Economic Policy which represented the Party’s Social, Economic and Political
programme. It was later known as Karachi Resolution and Nehru had originally drafted it.

$116. Ans.(a)

Sol. The Poona Pact was the agreement between Mahatma Gandhi and Dr. Br Ambedkar reached on 25
September 1932. It has provision of reservation of seats in the provincial legislatures and adequate
representation in civil services.

$117. Ans.(b)

Sol. On 11 September 1930, the personnel of the Round Table Conference were announced. The
conference was opened officially by King George V on November 12, 1930 in London. It was chaired by
British PM Ramsay MacDonald.

$118. Ans.(a)
Sol. Green Revolution impact is mostly felt on wheat.The Green Revolution in India refers to a period
when agriculture in India improved due to the adoption of novel methods and technology in agriculture.

$119. Ans.(b)
Sol. The godavari river is the largest river of south India, it has length of 1465 Kilometers, it originates
from Triambakeshwar in Maharashtra.

$120. Ans.(c)
Sol. The Great Himalayan National Park (GHNP), is one of India's national parks, is located in Kullu region
in the state of Himachal Pradesh. The park was established in 1984.

$121. Ans.(c)

Sol. The Nuclear Fusion Reaction is the basis on which sun releases light and heat. Inside the Sun, this
process begins with protons which is simply a lone hydrogen nucleus and through a series of steps, these
protons fuse together and are turned into helium. This fusion process occurs inside the core of the Sun.

$122. Ans.(d)

Sol. The Attorney General for India is the Indian government's chief legal advisor. The Attorney General
(AG) is appointed by the president. He has the right to speak and to take part in the proceedings of both
the Houses of Parliament, but without a right to vote.

$123. Ans.(a)
Sol. Central Bureau of Intelligence and Investigation is listed in the Union list given in Seventh Schedule
in the Constitution of India.

S$124. Ans.(d)
Sol. Prorogue is the termination of a session of Rajya Sabha or Lok Sabha.lt is done by the President.

$125. Ans.(b)

Sol. Isthmus is also a narrow strip of land joining two land masses.

The two most famous isthmuses are the Isthmus of Panama, connecting North and South America, and
the Isthmus of Suez, connecting Africa and Asia.
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$126. Ans.(a)

Sol. A is true but B is false.

Critical thinking promotes the building of concepts, application and expansion of ideas.

It does help in understanding and evaluating arguments and beliefs of others. It improves attention and
observation.

$127. Ans.(a)
Sol. The Palaeolithic period extends from 2 million years ago to about 12,000 years ago.

$128. Ans.(d)

Sol. Both statements are true.

Mehrgarh is located in a fertile plain near bolan pass of Pakistan. Evidence of farming and herding are
found here.

Mehrgarh was probably one of the places where women and men learnt to grow barley and wheat, and
rear sheep and goats for the first time in this area.

$129. Ans.(c)

Sol. The first ruler of magadha mahajanapadas in the 6th century BC was Bimbisara.

Bimbisara, Ajatasattu and Mahapadma Nanda are the best known, and their ministers, who helped
implement their policies.

$130. Ans.(c)
Sol. The three jewels of Buddhism are - buddha,dharma and sangha . They are known as Triratnas.

$131. Ans.(c)
Sol. Visiting the wildlife sanctuary will be the best pedagogical method in the context as it is associated
with the field trip approach.

$132. Ans.(a)

Sol. Social Science Textbook: The textbook consists of two more chapters regarding rural and urban

livelihood.

e The textbook should help in achieving the purpose of learning social science.

e The textbook should have a clear and self-explanatory arrangement.

e The cartoons used in the social science textbook raise basic issues and make it relatable to students.

e Acartoon is an effective technique to develop critical and reflective thinking by creating interest.

e It consists of both visualization and motion and makes the child familiar with the issues by raising it
in an attractive way.

$133. Ans.(a)

Sol. The issue of Apartheid has been a matter of global concern since 1940s.

e Apartheid is an African word.

e Itdenotes a state apartness, segregation or separation among different races, believing in the ideology
that racial differences are fundamental and different races should be uplifted socially, economically
and politically.

e Apartheid in practice means separate and unequal.

e They were physically separated from one another. They did not have the right to vote and they were
denied their citizenship.

e In South Africa, white domination operates in all spheres. Only whites can vote, all members of
parliament, all government ministers, all senior civil servants and all judges are white.
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$134. Ans.(c)

Sol. Social Science is a branch of Science that deals with human behavior and social relationships, which

rely primarily on empirical approaches.

The social science encompasses diverse concerns of society and includes a wide range of content drawn

from the disciplines of history, geography, political science, economics and sociology.

A social science teacher should aim towards ‘building perspective’.

o [twill help learners in developing a thought process and coming forward with new innovative ideas.

e The student will have a preconceived notion of any concept which will help them in grasping the ideas
effectively.

$135. Ans.(b)

Sol. Social and Political Life, as its name suggest, focuses on topics related to social, political and
economic life in contemporary India. This subject recognizes that children learn best through concrete
experiences.

Approaches like learning through use of concrete examples and experiences should have been considered
while developing social and political life textbooks as Social and Political Life:

e Focuses on real situations to teach concepts

e Develops learners abilities of critical understanding

e Uses case studies and narratives to explain concepts.

e Avoids the use of definitions to sum up a concept.

e Uses material that draws upon experimental understanding.

$136. Ans.(b)

Sol. Open Book Evaluation:

e Itrefers to an exam that allows students to bring their books or notebooks in the exam and to consult
their books while answering questions.

e Open book evaluation tests the skills of problem-solving and critical thinking rather than memorizing
the given facts of textbooks.

e The main purpose of this type of evaluation is to reduce and eliminate the burden of rote
memorization and to teach students how to take information and apply it in a thoughtful, deep
manner.

$137. Ans.(d)

Sol. Social Science as a discipline has the unique capability of being able to look at both development and

normative issues of the society. It includes disciplines of History, Geography, Political Science, Economics

and Sociology.

e The teaching of Social Science requires the use of non-textual source like diagrams, maps, etc. It
studies human behavior and enhancing vision or perspective about society.

$138. Ans.(d)

Sol. Assessment is a process of collecting, receiving and using data for the purpose of improvement in the
learning process. It assesses both scholastic and co-scholastic aspects of a child’s growth.

In the above-mention situation, inferring and extrapolating from the situation would be the best skill to
be emphasized while assessing the students.

Inferring and extrapolating from the situation helps students:

e Toreach a proposition by deriving the logical consequences of an assumed thesis.

e To observe a present situation to guess or predict about what might eventually happen.

e To make an inference about the hypothetical situation based on known facts and information.

e Toreach a conclusion which is drawn from evidence and reasoning by using imaginative thinking.
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$139. Ans.(c)

Sol. Area of curriculum includes:
e Internal activities of a school

e External activities of a school.

$140. Ans.(b)
Sol. Social Studies text book should be according to the student.

$141. Ans.(a)
Sol. Bloom’s lesson plan is based on objectives

$142. Ans.(d)
Sol. The project is that purposeful work which is done with complete devotion in the social atmosphere.
This statement is given by Kilpatrick.

$143. Ans.(d)

Sol. Social studies is supposed to study of

e Economical relations of man

e Political relations of man

e Social relations of man

e Social geographical relations of man
Hence, Option (d) will be the correct answer.

$144. Ans.(d)
Sol. All of the given options are the fact which is studied under the area of social studies.

$145. Ans.(d)

Sol. Evaluation is a process of:

e Determining the extent of the achievement of objectives
e Ascertaining the quality, value of outcomes

e Comparing the outcomes of instruction

$146. Ans.(c)

Sol. Teaching-learning materials enable the teacher to express the intended concepts of learning
effectively. Teaching aids in social studies helps in illustrating natural phenomena like volcano, rain
earthquake etc. Teaching aid in social studies teaching helps to define an idea, concept in a better way.

$147. Ans.(a)

Sol. The three stages of evaluation of dimensions was given by B. S. Bloom which are:
1. Determination of Educational objectives

2. Providing learning experiences

3. Evaluation of Behavioural changes

$148. Ans.(d)

Sol. While explaining agriculture case study of India and USA, a teacher should teach by comparing and
contrasting through concrete, student can compare the agricultural condition of USA and Indian, they can
develop their own way of learning.
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$149. Ans.(c)
Sol. While teaching the students about social equity and untouchability teacher should hive the give the
real life experience about the society in which children are live. They can relate themselves.

$150. Ans.(c)
Sol. The best method for teaching with sights and sounds is by Field trips and surveys they can easily
understand.
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